
ASSEMBLY INSTRUCTION

US C000000

921-230



PART
LIST

A 1 B 1 C 1

D 2 E 1 F 5

G 1 H 4

N 4

J 1 K 5 L 8

M6*20

P 4

M8*45

M 3 O 2

M8*20

M6*25



01 02

03 04

J 1G 1 C 1B 1

L 4 O 1

M6*20

L 4E 1

O 1

M6*20

K 5

J

F 1A 1

P 4

M6*25

O 2

M 3

M8*20



05 06N 4D 2

O 1

D
one

D
one

M8*45




	页 1
	页 2
	页 3
	页 4
	页 5

